PROPRIETARY AND CONFIDENTIAL: THIS DRAWING AND THE INFORMATION WITHIN ARE PROPRIETARY TO TEMPCO ELECTRIC HEATER CORPORATION AND ARE ISSUED IN STRICT CONFIDENCE ON THE CONDITION THAT | ECO # [NO.] REVISION [DATE ] BY

THIS DRAWING AND ANY INFORMATION CONTAINED THEREIN SHALL NOT BE COPIED, USE FOR MANUFACTURE OR SALE, OR TRANSMITTED OR DISCLOSED TO A THIRD PARTY, IN WHOLE OR IN PART, WITHOUT THE

PRIOR WRITTEN CONSENT OF TEMPCO ELECTRIC HEATER CORPORATION. REMOVING THIS DOCUMENT FROM TEMPCO WITHOUT TEMPCO’S WRITTEN CONSENT IS PROHIBITED. TEMPCO ELECTRIC HEATER CORPORATION.
ALL RIGHTS RESERVED.

HIGH TEMPERATURE WIRE AND REPLACEMENT PARTS ARE AVAILABLE FROM TEMPCO.
1/2 NPT WEING HUBS HOUSING PARTS GENERAL ASSEMBLY IF ELEMENT IS TO BE REPLACED IT IS RECOMMENDED THAT A NEW REFLECTOR BE
'WITH_CONDUT PLUGS FIXED MOUNT 3/8-16 BOLT ORDERED ALSO. CONTACT FACTORY WITH HEATER P/N, WATTS, AND VOLTAGE
BOTH ENDS ON SERIES 6 —NOUNTING NuT 1.3/4° LONG REQUIRED WHEN ORDERING REPLACEMENT PARTS.
PARABOLIC ANODIZED ALUMINON ONE END SERIES § (1m1] 3/8 FLAT WASHER oD LOCATED TO SUIT BY CUSTOMER
REFLECTOR BEHIND ELEMENT. = DURING INSTALLATION OF UNIT CLEAN REFLECTOR PERIODICALLY. DO NOT USE STRONG ALKALI CLEANERS ON THE
~—3 1/8\— ANODIZED ALUMINUM ALUMINUM REFLECTOR AS THEY WILL DULL THE FINISH. A MILD SOAP & WATER
EXTRUDED HOUSING SOLUTION IS RECOMMMENDED.
31/ SLIDING IAOI.ISNJT 3/8-16 THDS MACHINED INLET FOR
/32 O LR o UuER VOUNTING BOLT INSTALLATION #10 GROND SCREW DANGER: HAZARD OF FIRE. THESE HEATERS ARE NOT FOR USE IN ATMOSPHERES
1 INSIDE TERMINAL BOXES WHERE FLAMMABLE OR COMBUSTIBLE VAPORS, DUST, GASES, OR LIQUIDS ARE
l vt ?F“-'AS-SDY'; FOR THERMAL PRESENT AS DEFINED IN THE NATIONAL ELECTRICAL CODE. WHERE SOLVENTS,
| ] N WATER, ETC. ARE BEING EVAPORATED FROM THE PROCESS, IT IS NECESSARY TO

PROVIDE SUBSTANTIAL QUANTITIES OF VENTILATING AIR TO CARRY AWAY ALL
RESULTING VAPORS.

OE=

BE SURE ALL ELECTRICAL CONNECTIONS ARE TIGHTLY MADE. HOLD TERMINAL WITH
PLIERS WHEN TIGHTING SCREWS. MAKE SURE ALL CONDUCTORS ARE PROPERLY

- 7/8 INSULATED AND ROUTED TO ALLOW FOR EXPANSION AND CONTRACTION OF THE
- UNIT.
\ ' CAUTION:
NEMA 3/4 JUNCTION BOXES DO NOT MOUNT HEATER HOUSING CLOSER THAN 6" TO ANY STRUCTURAL MATERIAL

THAT DOES NOT HAVE AT LEAST A 200C CONTINOUS TEMPERATURE RATING.

OVERALL LENGTH (0AL)
BUND END PLATE ON SERIES 5 5/8 BUSHING HEX NUT

— 5~ 5 ‘ 5~  ——
¢ | ) @
7 ( 7 ( ﬂ | 7( 7 (
N A\ N A [ A\ AN N A\
‘ SEALING GASKETS fio TIRE A TeRuNALS
- OVERALL LENGTH (OAL) , AN XD PIATE FoR FELS ARG

|SERIES 5 — SINGLE HAIRPIN ELEMENTl

|SERIES 6 — DUAL HAIRPIN ELEMENT

ATTACH PROPERLY RATED LINE INPUT WIRES TO ALL TERMINALS OF THE

- NOTE:
BT ALY NG T s TR ‘A VI2ED- ELECTRICAL CONNECTIONS TO THE HEATER ARE MADE THROUGH THE 1/2 NPT
CAN - TAPRED WUBS IN THE END ENCLOSURES. WIRNG SHOULD BE RUN'IN RIGID
USE ONLY INSULATED NICKEL PLATED, NICKEL CLAD, OR NICKEL CONDUCTOR. S N T D NSRS | FWIRING SHOULD BE RUN
126A FOR UNITS OVER 20A & 14GA FOR 20A OR LOWER.
LEADWIRE RATED AT 250 DEG C OR HIGHER IS RECOMMENDED INSIDE THE HEATER LOGAL CODES ‘THAT NAY BE APPLICABLE, AGCESS TERMINALS BY RENOVING.
THREADED COVER ON NEMA 3/4 ENCLOSURES.
JUNCTION BOXES. USE OF 200 DEG C WIRE IS PERMITTED IF UNIT IS USED IN INPUT
'AMBIENT CONDIIONS BELOW 104 DEG F. LINE
NOTE: ELEMENT VOLTAGE = LINE VOLTAGE FOR PARALLEL CIRCUIT OPERATION. e

C( (C llll:gs( —————— al r————-- -ta®:lllI (C D C( ¢ ln:@s- —————— 1 T

X C I®=—|-—— i [ [ - — ==&l C
I

I
V4 | XQ BE®=—|---— | | |
| o4 ! | P [ [ -7 ' 1 INPUT
INPUT | | 1 1 LINE
M UNE [ oo voLTS
TO EXTERNAL WIRING CONNECTIONS == | I VOLTS v Vv :l_— 1 I \
"\REA N7 EXCEEONG 300F = vV Vv : 16 LINE VOLTAGE INPUT - vV J_l—»
(FOR COPPER WRE) 19 LINE VOLTAGE INPUT W/GROUND J_l_'_, 18 LINE VOLTAGE INPUT W/GROUND = '
STANDARD SINGLE END WIRING e STANDARD DOUBLE END WIRING )
"“WARNING:"
USE COPPER WIRE TO
TEWPERATURES WiLL OXIDZE CORFER,
USE OF PLATED OR NICKEL CLAD
IV’I??E“IA@LE%:E%\#F IS RECOMMENDE)
VIRlNG INSI’ P rnE'&vq:Em: -
B Tl b ™ TRH UNIVERSAL 2000 T ﬂ
RADIANT HEATER INSTALLATION, E PCD,
SEOBSORERSER WWWTEMPCD.COM
WARNING: HAZARD OF ELECTRIC SHOCK. INSTALLATION MUST BE GROUNDED TO EARTH TO AVOID SHOCK HAZARD. WIRING, & PARTS ASSEMBLY TEMPCO Eloctrie Hogter Cormoration
DISCONNECT POWER TO INSTALLATION BEFORE SERVICING OR INSTALLING HEATER NEMA 4 HOUSING — SERIES 5 & 6 607 N. Centrol Ave.
SRAWN BV APPROVEDR DRAWING NOMBER: Waod Dale, IL 60191-1452 US.A.
WE B 151 9/25710 | IDP~126=103| _Emai: infosiempeo com






